a
C12 -9.0 - Rationals Notes Y T b —h) HA: y =k
1
Graph: y== x —int: y—int:
X y
1 1
_5 _0.2 = — —_ —
y o y "
-1 -1 1 1
= — y=_
-0.1 —-10 x 0
0+1 y #
0 und
Denominator
1 = 0 and solve
5 0.2 =0
Domain:x # 0
Add Fractions Long Div
- 1
y +1
AT - x— X+
‘ X11 1 0
T (2,2) 1x 2= —/ x-1
2——‘ x—1 x—1
—t et ot =t i |on s T [ y=1 1 x—1 @
I . X x—l%{_ x—ll
34 v X —
HA =k* X 1
-DE-1 x—1 x—1+1
1xt 1 X
1.1 71 x—1
1x1 1 x y
1
‘o | e
2 2 -
1 ot x y —int
1 X y=x—1+1 y:x—l
=x—1+1 Careful! x;l 1 1 - 0
1 (x—1)x0 = xx-1) 2 0-1 _0-1
T T x—1 _x— y=-1+1
(x—1)><—1=x_1><(x—1)
—x+1=1
x? I Slant
Slant A tote: Y= =x—1+ an 2
ant Asymptote: ¥ =~ x+1  Asvmptote x+ 1 x+0+0 HA: x* mnone
6 x|, g
X
—4 -x+0 VA x+1=0
—x—1 x=-1
o Slant + +1
0 L T Divisor x—1><x+1 1
x+1 x+1
x2—-1+4+1
x+1

Rat Page 1



C12 -9.0 - Rationals Notes

VA: x=-1 VA: x=1

x2-1=0
x+Dx-1)=0

Graph:
X y x+1=0 x—1=0
x=-1 x =
-2 1
. @D &)
-1 und x — int: y — int:
0 -1 1 1
xc—1 x4 —1
und 1 1
2 |1 “xro1 YTz
i 0s1  @=D
x2—2x—-3 X y VA: x=-1 VA: x=3
2 2 x2—2x—3=0
% x+1Dx-3)=0
) -1 und x+1=? X—3:=0
HA 0 0 0
ty=
2
Jen 2 Q2D @
und X — int: y — int:
4 4 O——x 0
il T x2—2x — Y= o5rm 2
= 0 X 2x — 3 02 —2(0) — 3

O @O

Holes :
y:xz — X —2 Factor
x+2
(x =Dz

y=x—1,x+ -2

Rat Page 2

x+2=0 Set what you've crossed off
. equal to zero and solve.
’ y=x-—1
y=-2-1
y=-3
x y
=
1
y= x # -3 x+3=0
x —
x=-3
1
y =
. — x—1
HA: y=0 ~ 1
GO
1



C12 -9.0 - Rationals Notes

Find Equation :

_ HA(x —int)

VA's
VA, x = -2

G +2=0 )

HA: v=—1 x—h x —int: (—1,0)
CD NP 5
x+2

HA: y=k _a(x+1)
Y="12 HA:y = -1

(x!y) 1x1

1 1_—(x+1)

x+2 Tox+2

{ .
L _ HAG—in)

{ x_a}éx+1) VA: x=-3 Y VA's

( =(x+3)(x—1)+k VA: x=1

( __ak+n o P C k)

T y= G +3)(x—1) +0 pa: y=0 x1_(3?+ N

) a(x+1) y=——"

\ y=m x+3)(x—-1
3 alZ+1) 3
g—m (2,5) HA: y=0 x_1
3 3a X2
§=? x,y)

_a(x — int)(holes)

(VA's)(holes)
B a(x —3)
RN
_alx-3)
Y= (x+2)(x—3)
_alx+4)(x—3)
Y= (x+2)(x—3)
_a(x+4)(x—-3)
Y= (x+2)(x—3)

X=3 pole: (3,-14) _p-0+H a
x—3=0 S0+ |0D) y=—— 1 L X2
4a xy) x4 2 x+2 X+ 2
x=-2 VA x=-2 2=~ 1=—% 141 1 e 1x T2
x+2=0 _ a=—-1 _Il+2 x+2 x+2
X = —4 x—int: . a= 1 x2 +3x+2
—1x? 1

HA:

1x2 y__I

Rat Page 3



